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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
You have to write your answers in separate answer sheet:

. Please write your Centre Code and Seat No. very clearly (only one digit in

one block). Before writing your Seat No. get it ascertained.

Please see that no block is left unfilled and even zeros appearing in the
Centre Code and Seat No. are correctly transferred to the appropriate blocks
on the booklet and on the answer-sheet.

For all subsequent purposes your Centre Code and Seat No. shall remain the
same. Centre once allotted will not be changed.

'Example 2

CENTRE CODE % Hohdish

SEAT NO. 379 HhHish

. All questions carry one mark each.

. All questions are compulsory.
. If you do not know the answer to any question, do not spend much time on

it and pass on to the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

. Since the time allotted is very short you should make best use of it. The

rough work is to be done on the last page of the question booklet.

. Remember you have to mark on your answers in "Mental Ability Test" Section

of the answer-sheet only.

. The answers to each question are given in the question paper. See the number
‘of correct alternatives among them and by selecting the correct option

number of the appropriate questionnaire on the answer sheet hlghhght it

-with BLACK/BLUE pen only.

. Do not write anything except Centre Code Seat Number and rough work

anywhere in this booklet.

. Now turn to the next page and start answering the questions.

[ NMMS-MS-MAT [vIOo] M1 | | -



9T 1 q 3; GIT— AN R U AA?

1. AZCX, = BYDW, EVGT, FUHS?

(1) IRPK @) JQLP 3) IRKP (4) LOJQ
2. WX, oTU, POy KL+ ¥

(1) EF 2) FE 3) FG (4 DE

3. AZ, DWW, GT, JQ? :
(1) NM Gr i e ol (3 NP  @MN

T 4 N 6: G- A A Z I IS AW WO WA FHHIHE R T T T

STERACT TR Bl ﬁ%ﬁﬁmwgﬁammmm'

Tl WawﬁaWﬁmﬁamW?
(1) K 2 M 3) 0 @Q

5. T SR 59, 73, 103 ST 123 SR de Fo st v T ada?
(1) SUMO (2) EAGS (3) SWIM  (4) GOAT

6. aﬁa?ﬁﬂ&méﬂnmﬂqmammamwmm
AT Sl Hivrdt?

(1) EW 2) KQ BB g | (4‘) GS

U9 7 4 9: GEAl— TETd 7 SHUTR ATehel Nes@T

' = . RS ; o
74 2 ~ 3 --(4)©
JNGIES 0| &

o \Y

G @) 3) »(4_)
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MENTAL ABILITY TEST

Q.1to3: Directions— In each of the following questions write which

term in sequence replaces the question mark?

1. AZCX, BYDW, EVGT, FUHS ?

(1) IRPK ) JQLP 3) IRKP 4) LOJQ
2 WX, SRR R0, K Y

(1) EF | (2) FE BYFGY . (4) DE
3. AZ, DW, GT, JQ? |

(1) NM (2) OL (3) NP (4) MN

Q.4t06: Directions— In the alphabetical series A to Z all the letters
on even numbers are omitted, and a new series of letters is
prepared, observe the series and choose the correct alternative

for the following questions.

4. In the new series of alphabetic which letter stands exactly at the middle place?
(ke M 30 AL O

5. Which meaningful word will be prepared by choosing 5%, 7t 10th and 12th
~ letter in the new series?

(1) SUMO (2) EAGS (3) SWIM 4) GOAT

6. In the new alphabetical series which pair at letters is at an equal distance to the
right and left of the letter which is exactly at the middle position?

(1) EW (2) KQ 3)CY (4) GS

Q.7t09: Directions — Find the odd figure

1 AN e} > O
ol ey @ ©&| od
o e O e i ,

\%

8. (1) %Q 2) (3) @ )
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9.(1)0 (2)%% (3)@ (4)C1:\

10. afﬂvﬁﬁqé#@mkmﬁmwﬁwéaajwﬁ4kaWmeﬁﬁ
stmmmmm@WM'mm?

(1) 14 km (2 13km (3) 10 km (4) 17 km
ToT 11 @ 13: w—@awmwﬁ&wvﬁﬁmﬁmwﬁ
HeuTr A v e
11. BDF FGM KLW

(1) PLN (2) CRU (3) STA (4) DMT

" 12 MCQ  LKX  GQY | ,
(1) ETX (2) JKP (3) RDW (4) GNK

13. KOLN, HRIQ, AYBX

(1) LPKQ (2) DVEU (3) CXDW (4) MNOL
W 14 ¥ 15: W-amamamcﬁmmmﬁmwwﬁ
ST SRIUTCH 3TER Aerer?
14. abbb — aab — baa —bbaaa — — ,
(1) ababa : (2) babab - (3) bbaab (4) baaab

15.101 - 0121 -010—-12-101001 -1 | |
(1) 01010 (2) 10102 (3)10021 (401012

16. 7 gart 2011 It WHAR BT W 2021 Fed 17 gaTien ol 9R STEa?
(1) Faar A (2) e
(3) TR , - (4) TN

[ NMMS-MS-MAT [VII| M1 | | AAL

9. (1) Ol @ %% sy @ 4) CD

10. Abhijeet travels 10 km. to East. Then be turns left and travels 4 km. Then he

turns to South Fast direction and travels 5 km. How for he is from his original place?

(1) 14 km (2) 13 km (3) 10 km (4) 17 km
Q.11t013: Directions— In each of the following questions, ﬁnd out the

- group of letters that matches the given group.

11. BDF FGM KLW
() PLN . (2) CRU (3) STA (4) DMT

- 12. MCQ ~ LKX = GQY

(1) ETX " (2) JKP (3) RDW (4) GNK

13. KOLN, HRIQ, AYBX

(1) LPKQ (2) DVEU (3) CXDW (4) MNOL

Q.14to15:  Directions— A rhythmic arrangement of number and alphabets
is given. The missing letter alphabet appear in the same order

in one of the alternative answer. Find the correct alternative.
14. abbb — aab — baa — bbaaa — — _
(1) ababa = f2) babab (3) bbaab (4) baaab

15. 101-0121-010—12—101001 -1 _ |
(1) 01010 (2) 10102 - (3) 10021 (4) 01012

16. Ttwas Monday on 7 Feb 2011. Which day will be on 17 Feb 2021 ?

(1) Sunday %7 B (2) Tuesday
~ (3) Wednesday ~ (4) Thursday
rNMMS-MS-MAT [vim| M1 | ‘ |



17. gfta tiedEe dis F&7 S 3TE. FE = a 180° T sSaeer= HerEA K
aw45°mammmmﬁﬁ#m =l HEl gl 225°
Wmmmﬁsﬁmmmmmmmw7

(1) = (2) ufe=m
i i it o i 00 e i SO

mm:gam_mmwmaﬁwmﬁm
(%

18.

(1’) | (2j W ; ) (4) Wg

WeT 19 ¥ 22: WEAI- TR UR sitwEn

' 19. (1) FM 65 ‘@) CD 12 (3) BQ 34 (4) EGI35.
20. (1) BGD (2) JDP " (3)HCF (4) LBE
21. (1) XYT (2) HFD (3)OMK (4) LID
22 i) fH Al T 3 TK (4) VK

mzs%zs W_mmmwmmm

3R, a‘rﬁwaxwmmr%wﬂwmﬁm

v ok e AR ?

8 | 5 |200
4 | 6 | 144
(1) 289 (2) 344 3)417 (4) 567

[ NMMS-MS-MAT |[VII| M1 | '
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'17. Sumeet faces West. After sometime be turns 180° in clock-wise direction. Then

be turns 45° in anti-clockwise direction. After same time be turns 225° in anti
clockwise direction. New to which direction his right hand will be ?

(1) South West = - (2) West
(3) East (4) South
Q.18: Directions — In the following question the given figure in
incomplete. Select the correct alternative which can complete
the figure. : '

| e

18.

(0 | (2) WEA ) />\ 4)

Q.19t022:  Final the odd term out

19. (lj FM 65 (2 CPha2. (3) BQ 34 (4) EG 35

2. (1)BGD (@ ®) HCF (4) LBE

21. (1) XYT - (2) HFD (3) OMK (4) LID

22. (1) PH (2) XL 3) TK | (4) VK

Q.23 t(; 25 Directions— In the folldwing question numbers are written

_ with a specific rule. According to that rule which alternative
will be in place of question mark?

230 74,9 P
8 5 | 200

4 | 6 | 144 .
(1) 289 (2) 344 M@y a? 4) 567
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24. | 98 | 12 | 62
9 |211| 8
37 | 21 | 147

(1) 7 | )9 (3) 11 4) 17
25. | 41 | 45 | 27
| 63 | 108 57
9 | ? | 16

(1) 82 )79 (3) 67 (4) 63

WY 26 d 28: q:a'-lré 3 x 3 x 3 Y, EST TH WS Sehed! U el
T 2 U WA U et @met fer, feen a fuaer
AT AT § ¥ @S ST 1 x 1 x 1 9raret Sehad et

26. 4 T T SR S 2
3 o4 36 (4)8

27. 3 YR fewan 1 UK Sihe feheil?
Thy IS ok 3) 3 @9

28. THE TR aft ST Sre foRel?
(N1 23 @3)s 4)9

29, yuE AW SHES ds FE&A U Bl @ SRS T 30 m AR rerd el TR
T 9o @M 20 m SR HIe. TRl S S 30 m e el IR SSEihs
T 45 m R FR 9 T2 THA SNHSH FgT @M 45 m FHR HI T A B
(1) (2) A (3) T (4) TR

[ NMMS-MS-MAT [vii| M1 | _ ’

g Wl Sl b 68,
7 {2111 <8
37 | 21 | 147
1) 7 % Rk 3) 11 ) 17
25. | 41 | 45 | 27 '
63 | 108 | 57
90 | ? | 16
(1) 82 R, (3) 67 (4) 63

Q. 26 to 28 : Directions— The adjacent two faces of a wooden cube having -
dimensions 3 x 3 x 3 is painted Blue, Green and Yellow are the colours used
to paint the cube. Then the block is cut by 1 X 1 x 1 unit dimension in small
blocks. Answer the following question.

26. How many blocks are there whose all faces are painted ?
(13 (2) 4 A3) 6. 438

27. How many block are tﬁere whose two faces are green ?
(DO 2) 1 - ()3 @9

28. How many block are there whose only one face is coloured ?
(hioias 2) 3 3) 6 49

29. Pranav is standing on the ground facing North. He turns right and walks 30 m.
Then he turns left and walks 20 m. Again he turns right and walk 30 m. Again he
turns right and walks 30 m. Again he turns right and walks 45 m. At the end he

again turns right and walks 45 m. New at what distance he is from his original |

place and to which direction ?
(1) East (2) South, East  (3) North, East  (4) South, West

- T NMMSMSMAT |vii| Mi | - [[110f 40]




30. Amit, Milind, Mahesh and Ramesh are playing carom Mahesh and Milind are

30. sifi, ffer, wew, TR 3 o e Eed T A TR 9 fafers SR s partners. Mahesh faces North and Ramesh is sitting to the right side of Mahesh.

RYE dic TNE IR 9 WY F AR I I Iuoen @ W A dle - Then Amit faces which side ?
Hivre e 3e? | ' |
(1) 3@ (2) df=m (1) East ~(2) West
(3) S (4) = ~ (3) North (4) South
U9 31 @ 34: G- Wieftel WgId wEn s fatre e faoer o, e Q.31t034: Directions— In each of the following questions find out the
T T vEtT @ TEnh ged, 9 ava v Qﬁ%ﬂ ~ term which matches the given group.
31 lan= 485 650 | 31. 425, 353, 650
(1) 336" (2) 840 (3) 535 4) 731 | (1) 536 (2) 840 (3) 535 4) 731
(1) 416 2) 798 (3) 330 (4) 9160 a6, . - 278 . (3)330 (4) 9160
. 33 128: ey
. 128,11, 67 ‘ ‘ ’ _ .
i . | 1) 21 @29 3)219 (4) 340
(1) 21 2)29 - (3) 219 (4) 340 ~ ,
_ . ‘ 34. 496, 432, 464
H 519)63:22, o (2) 344 (3) 375 ‘ (4) 342 | (1) 338 (2) 344 @378 . (@342
| | ; Q.35t036: Directions— Observe the following figure and choose the
WY 35 q 36: GaA— WA e FrRiguT e gEier Uraest RUERE R correct alternative for the questions. ;
3 ﬁ ’- . -

35. What is the total number of triangles in the figure ?

35, ST eome TR e fhd oTR? (1) 6 @) 8 3) 10 (4) 12

1) 6 By (3) 10 @12

| NMMS-MS-MAT |viI| M1 | '
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36. sTpdIaeie THeS Hhe TR WeA fohdl? - 36. What s the total number of trapeziums in the figure ?

(1) 4 2) 6 (1) 4 (2) 6
(3) 8 4 10 ' (3) 8 (4 10
: \ o Q.37t038: Directions— The folded figure of a square paper is given
Wt 37 X 38: AT WTelt Freres WO ST AHGHACAHI T S “below. If it is unfolded. How will it look like ? Select the correct
m et ag'-r feedt 3'"% ?::mm . alternative from given options.
feerean Taiet reRenaeA e
37.
37.
ZO\
: (1) | 2)
(D . (2) 2
| | (3) 4)
(3) (4)
, 38.
38. | :
’ TN | N
(1) (2)
o QKD N/ AN
N/ L 2
/ s | i A — % @) '
(3) 4) 7 | ‘ s A

[ NMMS-MS-MAT | VIl | MI | [ NMMSMS-MAT |vill| M1 | Lo



39, 2000 et Hieen A JuET B G T Foren a6 ween i guard Ha?
(1) 2007 (2) 2004 ~(3) 2006 (4) 2005
79 40 F 41: -
T +  TEUTH TUMER
i +  TEUTS aTaTeRt
— TEUTS HTeRR
X OIS NS W W
40. 5+3+2 x4 ffaa w@ | :
(1) 7 ' () 13 (3) 17 (4) 22
41. W, 30 +22 = 600; 25 + 12 =250

15 + 32 = 450 @ 28 + 42 = feelt?
(1) 1120 b (2) 2100
(3) 2840 (4) 4200

WY 42 A 45: W—Wmﬁﬁw%wm%ﬁﬁw

TN
e

[~

S
\’\
\\

N

=
1

T

] L
] L]
i el epden
K/V

/=
/[
o

£2. T 7S T s dw B |
(1) 0 (2) 2 3)4 | (4) 16

[ NMMS-MS-MAT [VII| M1 | T 160f4p|

39. In the year 2000. ‘Women's Day’ was on Wednes’day, then in which consequent
year Women's Day’ will fall on Wednesday ?

(1) 2007 (2) 2004 (3) 2006 (4) 2005

Q.40to 41 : Directions —
If + means multiplication
+ means subtraction
— means division
X means addition.

40. Then find the value of 5+3 +2x4 |
(17 , (2) 13 3) 17 (4) 22

41, 1£30 + 22 = 600; 25 + 12 =250
15 +32 =450 then 28 + 42 = 2
(1) 1120 | (2)_2100 .
(3) 2840 - (4) 4200

Q.42t045: Directions— The following figure is made by joining some
cubes to each other. The figure is painted from all the sides. Observe the
figure and answer the question by choosing the correct alternative.

42. How many blocks are there whose four faces are painted ?

[ £35S (3) 4 (4) 16

| NMMS-MS-MAT |[VvII| M1 | | !
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43. focht aﬁmin THE PR T 3MR?
(1) 0 (2) 40 - (3) 44 ; (4) 46

. 44. ‘P’ SR @I SwEArA Rl IR S Swear=al e FEl Fe AR?
M1 @) 2 3) 3 4)4

45. T A (F) Gt s S
(14 (2) 8 (3) 10 (4) 12

YT 46 § 48: oN- UEra WA Ufgedr UaTe T TETS S wEE 3T
FaTer Hay o 9 e uered ong. A Way IR uyAtrea
smit =@ weofg frae

46. 512:12::343:7

(1577 52 (2) 15 (5).(3¥ 10 (4) 20

"47. 615:12: :819:9

(1) 30 @) 15 3) 36 (4) 24
48.2:6::3:7

(1) 8 ) 10 (3) 24 @1
U9 49 : ,WeﬁﬁaﬁmmgﬁwmmﬁWaw

o[

| ‘ ‘ . g | s
| o L& mox e o il
(1) ﬂ (2) (ShEE (4)|
| _l ]

[ NMMS-MS-MAT [ VIiI | M! | (18 of 40]

T

43. How many block are there whose only one face is painted ?
(1) 0 (2) 40 (3)44 (4) 46

44. How many faces of the block denoted by letter ‘P’ has touched the faces of other
block ? ‘
(H 1 (2) 2 3)3 44

45. How many blocks are there whOse three faces are coloured ?
(1) 4 2.8 5 (3) 10 (4) 12

Q. 46 to 48 : Directions— In the following questions there is a specific relation
between first and second term. The same relationship exists between third
and fourth term, which will replace the question mark select the correct
alternative from the given alternatives.

46. 512:12::343:?

iR @) 15 3) 10 (4)20

' 47. 615:12: :819:7

(1300 @) 15 (3) 36 (4) 24
48. 2:6::3:9
(DR 2) 10 (3) 24 @) 15

Q. 49 Directions— The question figure given below is held vertically on water
surface. How will the reflection of the given figure in water look? Select the
correct alternative

I

' s ' RLE |
(D @ ) M 3) @ G M

NMMS-MS-MAT | VIII| MI | ' ‘




U9 50 W 52: WOM- WeH TIeiedr AT WAIAEET et el Werel ST

YA A waia feR
b c
d é f
g ke g g

P e A e = ]

(1) iem Q) ifs (3) ins @) ijs j

51. bhic: abc: :istj: ?

(1) ehi (2) inj @) fi (4) gdh
52. glr :dhms ::jns:?
(1) eint (2) acf 3) jnst (4) fimr

T 53 A 56: W_w@mwmm.%ﬁmwm
(1) &= o & ™[ dF fHea. -
(2) G&e 7 A UM F TOIHRIGT U IS HA

(3) TEie 7 WA § AR o W e ; - ’ :

(4)@%&1%@@@@.

8330, %, 120, 8, 78
54. 37, 16, Sl 2
55. 336, 24, 0, 210
56. 67, 7, 19, 52

[ NMMS-MS-MAT [VII| M1 |

Q.50to52: Directions— Observe the pyramid of letters givén below and

answer the questions that follow.

50. bdh:beh::ims:?

(1) iem (2) ifs (3) ins (4) ijs
S1. bhic : abc : : istj : ?
(1) ehi (2) inj (3) fij (4) gdh
152. glr : dhms : : jns : ?
(1) eint (2) acfy (3) jnst (4) fimr

| Q. 53t056: Directions— Identify by which rule the following numbers
perform a set.
Option rule :
(1) Add three to the square of the number
(2) Multiply the number by 7 and subtract five from the product 30 obtained.

(3) Divide the number by 7 and add the square of the quotient in the
number. ‘

(4) Subtract the number from the cube of that number.

53.. 30:4 520, 8, 78
54. 37, TR s 2
55.-336,. .. . 24, 0, 210
56. 67, 7, 19, 52

[ NMMS-MS-MAT [VII| M1 |
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57. TH! WA SRS TR TIARR TS SR SEESA e R 9SS
S TIMER 1 3R, T T 9 5|1 Iiean 0 fopet Heit eTRa?

(1) 10 E 2) 9
3) 8 (47

msé%so: GerT- @ielt fEaean Tehdien gear aaedl & U Siehal aar
e, T e Fritgror se Eter et SR fer,

56

58. 4 T AFTAT FUR HIvET 3iF AsA? |
(1) 1 ) 6 LY S 4)2

59. WreieEt FE @ TR Be?

RR R

60. 6mmmmmwm?
(D1 (2) 2 (3) 4 £ )3

61. WWWNOTEHWOQWIWWHmWWWBOOK

Bl VK &4l ﬁaa? -
(1) CQRO
(3) CRSP

(2) CPQN
(4) CQQN

62. @WWWH—II P=19, TO = 41 3®a W = Gichide HNd
LED=7?

()20 R (26 3) 29 4) 30

| NMMS-MS-MAT |[VHI| M1 | : . ‘

57. In a row Pradnya is standing at 11* place ﬁom left Najma is standing at 20"
place from left but 8t place from right. How many girls are standing in between
Pradnya and Najma.

(1) 407 . 29
(38 , 47
Q. 58t0 60: Directions— The adjacent figure is folded to form a cube. Observe
the figure and answer the following question. '
12 |
506
58. Which number will be there on the surface opposite to the surface having number
. 47
(D1 (@6 _ 35 4)2

59 Which of the following figure is the figure obtained by folding the paper to form

a cube ?

60. Which number will not occur adjacent to 6 ‘7
R 2) 2 (34 i i ()8

61. In a certain code language NOTE = OQWL. Yhen in the same code language
Book =? ‘
(1) CQRO (2) CPQN
.-(3) CRSP (4) CQQN
62. Tn a certain code language if H= 1'1; P i TO = 41 then in the same :
language LED = ? g | , ¢
(1) 21 (2) 26 (3) 29 (4) 30

MTNMMS-MS-MAT [vill| M1 |




' 63. T GichTaw WNd Sk THUMBA = ZYNFSG @ ®T9 Hiehfaa 9Yd ROCKET #1 9%

- & foagr?
(1) ILXPYG
(3) QNBJDS

(2)

(4) GVPXLI

SPDLFU

64. TH m‘aﬁ‘w CILG SPACE & ¥I% UNCAG &1 fadtam 9T == wug ORBIT #1 w

Har fa=mEn
(1) QPAGP
(3) QPDGV

2
4

QRDHV
QPDHV

U9 65 | 67: W—@WWWW@WWWW
T WA WeAteeTeT S faerear

NG

) |

aﬁa%m -
© GLEL "X
" 65, i X : i
o R O
O ity S sBa% i
(1) (2) X0 3)!
5 Ty 4 e O X
' ol o)[os
66. % IS & ?
) e e e
e ww g ) 1; Bl ]
O AN S
Y| |||
) | (38 @3)
\LX/

(4) {—f*@%
‘ AP/

[ NMMS-MS-MAT [VII| M1 |

63. In a certain code language if THUMBA = ZYNFSG then in the same code
language ROCKET = ? AR
(1) ILXPYG
(3) ONBIDS

(2) SPDLFU
(4) GVPXLI

64. In a certain code language SPACE = UNCAG then in the same code language
ORBIT =7 -
(1) QPAGP
(3) QPDGV

(2) QRDHV
(4) QPDHV

Q.65t0 67 : Directions— In each of the following, question figures change
in a particular order. Find out the correct figure form the alternatives which

will replace the question mark.

R R e |D>_< |
65. | X it 2
R ‘l ol
PR [ 0 “O' |
¢ RN | BT ) e @ U
G et O X i
e O ol oo
JR N 4 =
g S
N e e g O A
GHE sl @ R G ®o s
o S S Ry
f ""] 3 1
A g e
67. - | (2| | 2N || N | o
‘ Lol esed
riis g B J | qy

‘ (4) AB ,

M @?@‘ @) %% ©




YT 68 T 69: GEHI- THHM Tl TR Aeier?

62. 0+VOA, +OoVA, OV+oA, ?

2)oVO+A
4 VoO+A

() A+OVo
3)VaoA+0

0. 05X0V, VZaB6,0aVER, BVOAL,?

1Y abVp 2)2.BVoa
3 LOBVa @ 29Bo.V

YT 70 ¥ 72: GEA— TEoedr a9 oMpda Frigur wET @ieler ugiet S

3 B
| : |
|
| 47
10 hy
shohe 25 116
32 -7
70, wuE 7 feee Beom farnefl fad?
(1) 57 L A AT (3) 118 (4) 180
(1) 10 ~(2) 16 . (3)32 - (4) 58

(1) 108 (2) 118 (3) 47 (4) 133

(26040

[ NMMS-MS-MAT | Viil| M1 |

Q.68t069:  Directions— Which signs will come in order ? -

L SO, DVEaA 1

(1) A+OVo 2 oVO+A
3)VoA+0 @ VoO+A
69. 0BPTOV, VXap6,0aVIB, pVOal,?
1) 2adVp (mZBVOa
3)20BVa @ 20paV

Q.70to 72 : Directions— Observe the following venn diagram and choose -

the correct alternative to the questions that follow.

61 Kabaddi

; ' 47

10 )y

Cricket 25 116
: 32 Kho-Kho

70. How many students play Kabbadi and Cricket ?

(1) 57 2) 47
(3) 118 ¥ B (4) 180
71. How many students play only Kho-Kho ?
(1) 10 - (2) 16
(3) 32 B S AT 8
72. How many students play other games except Kho-Kho ?
(1) 108 w0 a(2) 118
(3) 47 (4) 133
- [ NMMS-MS-MAT [Vvii| M1 | ' ,




W9 73 q 75: G- UKEA USTST TEAT WSO AT Helel R, A€ Heiel

mammmamwm&mmm'

uaig et

73. MITRA : BSUIN : : CLOSE : ?
(1) DMPTF
(3) BKNRD

74. BOLT : DRNW : : IMKA : ?
(1) LRNE
- (3) MOMN

75, JEET : KDFS : : NEAT : ?
(1) MDBS

(3) ODBS

U 76 ¥ 77: GAN- YR G faeiear HeAned s fafvre fraw ond.
eEq wytaere SRt g waia et

85

63 35
o e 41

(1) 21 ) 37

o pnll i e T Ry R
17 | 19 | 325
21123 | 2

(1) 365

) 475

(2) FTPMD
(4) FTMPD

(2) MAMB
(4) LPMD

(2) MFBS
(4) OBDS

34

(3) 39 (4) 43

(3) 485 (4) 495

[ NMMS-MS-MAT [viI| M1 |

Q.73t075:

Directions— In following questions there is a specific relation

between first and the between the third and the fourth term, which will

replace the question mark. Select the correct alternative from the given

alternatives.

73. MITRA : BSUIN : : CLOSE : ?
(1) DMPTF
(3) BKNRD

74. BOLT : DRNW : : JMKA : ?
(1) LRNE
(3) MOMN

75. JEET : KDFS : : NEAT : ?

(1) MDBS
(3) ODBS

(2) FTPMD
(4) FTMPD

(2) MAMB
(4) LPMD

(2) MFBS
(4) OBDS

Q. 76 to 77 : Directions— There is a certain relationship between the numbers

that are given in the following figures. According to that relationship which

alternative will replace the question mark ?

o e 33

85

,76.7143196751 ~ 34

27 41

(1) 21 ) 37

75 | 13 1197

17 | 19 | 325
203y
(1) 365 2) 475

37

3) 39 (4) 43

(3) 485 (4) 495

[ NMMS-MS-MAT [VII| M1 |




WS 78 ¥ 79: QM- R ST LA SNFAN Er Woigr 3R, AW
Heiy foraa @ Sitear swepdlia oTR, A Welw Yive weAtorere it

T g9t fewT
78, o Al e
(D )
©) | @ e |

~ 1914
o13]]
all 3l 0 o

I—NMMS'-MS-MAT fvim| m1 |-

Q.78t0 79 :

Directions— In the following questions there is a specific

relation between the first and the second figure. The same relationship exists
between the third and the fourth figure which will replace the question mark

>’K

select the correct figure from the alternatives given below each question. .

A
78. .__<
\I‘ [ ]
NO) 2) 'g
"(3) @
A RPE AR Sk R RN
ATE ;
1] el
M o2
i | o
B g
(S)HJF GHEER
_ , kb
NMMS-MS-MAT |VHI| M1 | 5 :_:_




U 80 O 82: WII- UM WATGETeAl SRt Shivrar vaid dger?

80; 3; 5,813, 20;%

(1) 29 (2) 31 (3) 33 4) 27
81. 2,3, 10, 15,26,7

(1) 35 (2) 37 (3) 34 (4) 32
82. 71,79, 63,72,7

(1) 81 (2) 63 (3) 54 (4) 90

. WU9A 83 A 84: YeT— HIVT, TR, arrawurm mm%@mgzm%ﬂ arl“a:rrsr
T TRYT SHTHUE 3MTRA. T Fa Uahdl Wos Wasdll, K0T ASiHe
faied Od B Qodl feer 9 Weyl dsfHes o, o
T WY FEaier 30 Qosar, srfayr st wewor SaeetE

WesdTd.
83. mm@a@a‘cﬁaﬁa‘rm@mﬁ7
(1) 2serf™ (2)a€ﬁra
(3) Feaia (4) &™
84. 315 i O FHIVMAT Wes Wedara?
(1) Fesita | (2) %
(3)%@1“%’9 ~ (4) defied

| WY 85 W 86: W TN
EF, GH, 1J, KL 3191 Srgar S o, A, C, E, G, I, K dfter

85, C=n wAe faceneafen eeieheia faganeatsn smeragene StEter Hr?
() H @) F 3) ] T e

EXED

[ NMMS-MS-MAT |viim| M1 |

la‘rf@ weuarEet fagmeisn e AB, CD, ﬂ

Q.80to82: Directions— Which number will replace the question mark

in the given series ?

80.3,5, 8,13, 20,?

(1) 29 @) 31 (3) 33 ) 27
81. 2,3, 10, 15,26, ?

(1) 35 @) 37 (3) 34 4) 32
82. 71,79, 63,72, 7

(1) 81 (2) 63 4 90

(3) 54

Q. 83t084: Directions— Karan, Mabhesh, Avinash, Parag and Akshay are
players. Avinash and Mahesh are expert in carom. Akshay plays only one
game. Karn plays all the games except Badminton. Avinash and Mahesh

© play Badminton. Parag and Mahesh are expert in football. Except Avinahs

all play Table ternnis.

83. Which game Mahesh plays but Karan does not play ?
(2) Badminton
(4) Carom

- (1) Tabletennis
(3) Football

84. Which game Akshay and Karan play ?
(1) Football (2) Carom
(3) Tabletennis (4) Badminton

Q. 85t0 86 : . Directions— Students are standing to play ‘standing Kho-
Kho’. The pairs of students are standing in the order AB, CD, EF, GH, 1J,

- KL. A, G E, G LK are standing in the inner circle. The students who zire
standing opposite to each other in the inner circle exchange their places.

. Choose the correct alternative to answer the questions.

85. Who is the partner in the outer circle who is left to the student standing opposite
toC?
(1) H 2) F

3 @L

[ NMMS-MS-MAT [vil| M1 |
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86. A = ISEHEIA THAT TIMER oW et ereer?
3)ID

(1) CD

G2

ol 2]
D0 & Y
(D ) 3| Do

o

88, |

it

Q= .0
4 TN < i 48 ARl

(2) AB

(4) GB

woT 87 ¥ 88: W—mmmmw?ﬁﬁ&mm
mmma@ama—am
Fyit fade @ Qg gatare e,

o5 5 .
(1) ) go[cj)g G3) > o% e i) O<
WIT 89 XA 91: - fawm ww sien,
89. (1)350 (2) 130
(3) 520 (4) 740 |
90. (1) 314 (2) 521
(3)332 (4) 531
91. (1)234' (2) 294
(3) 364 (4) 434
| NMMS-MS-MAT -[vIII| M1 |

| NMMS-MS-MAT |vii| M1 |

86. Which pair will be there on the second place to the right side of A ?

(1) CD (2) AB
(3) ID (4) GB
Q.871t0 88 : Directions— A square piece of paper is folded and cut at specific

spots as shown in the figure. The paper when unfolded will look like as
shown in one of the alternatives. Select the correct alternative

l_<§l' =

RS ety S

0 C> &)
1 2) @ 4

o]

87.

oo m o Y o
(D (2) SIPII TR Y4 ! 0 5 B [
o e BECNe P

O R

O

Q. 89to91: Directions— Find the odd term
89. (1) 350 (2) 130
(3)520 (4) 740
90. (1)314 (2) 521
" (3)332 - - (4) 531
91. (1) 234 gt | (2) 294
(3)364 | (4) 434

o



e 92: Forl- QEe v U Tanret ofgar faaen o, e
mmmmwmwmvmm

feret.

92.

O
(1) OD @ Q G) @ @ QQ

UYT 93 ¥ 95: G- WIeler Uyia @y [ 7Y wmigr v faoe smea arrfur

W 11 Wst @i Wik ik oo omd U ¥ W 1 e

VST JTSISAT AT STHdleTe ¥ gL, o Wichfdaer WTHT

R & w11
NOTA 3149
MINT 4261
PAN 984
LION 3524
93. PRINT =?
(1) 67251 (2) 87241
(3) 78124 . (4) 87421
94. LAMP =?
(1) 5968 (2) 4829
(3) 5928 (4) 4368
95. OMNI =? .
(1) 3724 (2) 5361
(3) 3642 (4) 5626

[ NMMS-MS-MAT |[VII| M1 |

\

Q. 92 : Directions— In the given question a complex figure is given. Find out
which of the simple figure given in the alternatives is hidden in the complex

92, | LA _ |
A , :

i OD 2) (3) @ @) QQ 4

" the correct alternative to answer the questions.

93.

- o4,

figure?

93t095: Directions— In the following questions words are given in
column I and are coded in column II. But they are not arranged according
to the order of word letters in column L. Find the code language and choose

PRINT =7

(1) 67251

(3) 78124

LAMP = ?
(1) 5968

- (3) 5928

9s.

OMNI = ?
(1) 3724
(3) 3642

Column I | Column II

NOTA 3149

MINT 4261

PAN 1984

LION 13524
(2) 87241
(4) 87421
(2) 4829
(4) 4368
(2) 5361
(4) 5626

[ NMMS-MS-MAT |VII| M1 |
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U9 96 d 97: GEAT— @Iet fé?ﬁ%an'lrSHaxngﬁﬁ1§ AT wiewr feaean

gy faeE.
96. (;Eg;;
B E;;;g;x ) KﬁEEiE} 3)

n |2 A e
/@ (3);©\(4)/6\5

(1 \6 @)

W9T 98 ° 100:

7

FoT— Tt faeiean Setien THae ool gl St form,
29 '
28 o _
24 SRl yE e
23 2 gliaten
15 T R GE ARE 19
14 13 12 ke 10 9
2 g 4 5 6 . 8
98, 28,27:24,25,26::12,11:?
(1) 4,5,6 2)17,18,19  (3)5,6,7 4) 15, 16, 17

24,23, 16,22, : 7
2) 15, 13, 12, 16
(4) 26, 21, 18, 20
.22,16,12="7
@) 21, 18, 11
. (4)27,26,20
K K

99. 15,14,3,13:19,10,7,9: :
(1) 18,19,11,10
(3) 26,21, 17,20

100. 28,24,22:27,26,21:
(1) 21,18, 10
(3) 20, 19, 11

| NMMS-MS-MAT [vii| m1 |

S —

Q9% to97: Directions— Choose the mirror image from the alternatlves_
given for the given question figure. |

pz
H -

(1) E;;;g;\ ’.' )
/(g (3)7;5 (4)/6\5

fiiij) (4)g§]:2\,

o7. (D*J/
| (1)\\£T5§3 2)

Q. 98 to 100 : Dlrectlons— Observer the Pyramid of number and answer the
' . question that follow. A
29
y ’ 28 =
| : 24 . igs 26
23 R 21 20
| 15 16 17 18 19
14 13 12 11 10 Ly
2 3 4 s B 7 8
98. 28,27:24,25,26::12,11:? .
(1) 4,5,6 AT 19 3)5,6,7 - (4) 15,16, 17

99, 15,14,3,13:19,10,7,9::24,23,16,22,: 7
(1) 18, 19, 11, 10 ) 15,13,12, 16
(3) 26,21, 17,20 (4) 26, 21, 18, 20
100. 28,24,22:27,26,21::22,16,12=?
(1) 21, 18, 10 2) 21, 18, 11

3) 20, 19, 11 (4) 27, 26, 20
| * kK

[ NMMS-MS-MAT [viI| M1 |




